EARAROBEEIERT — 2 N— IBISH —F

201953748 (B) 19EA#1H

mﬂﬁ%—ﬂﬁ cC2——= BRI R
[A&4] 1 7% :1,000,000 @ ~ 2 3 :400,000 @ 33 :250,000  ~ 4 3% :150,000 @ . 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . > BEEXEH :28. -2- . — 1ESRIGHD (Z\#K)
1l5|6|*1T>¥avr7>h— 6 56.0 1(2_8)6 L s (ffz) E%i% -
RIIINATA—H— BiALSa9=UT =igHi5
= - i 5 | ElIFRL 1:30.4 9-9-9 |41.3| — 5 466 | tEEIE (KHF)
oK) 3| T~ FTLY 54.0 @ © e A TS
RN=YT754 B:ZX—Ix—/N\L)—F =Y Ty—LA
N 4 5 | FEFAE 1:30.5 7-8-7 M4 — 2 499 | BEAME(E (KH)
<1 6 RARARAES 56.0 (1/2) @) | W AFYTR-—NT T2
Libh—trhvLAY B:TIM b Fvy S ack fok
. . . =HE :30. -3~ 2| - BAEZ (K3
4179 |Ya—>X*1TW o4 2250 1(33/%6 SRR s 2 (4_776) =115
R:HYYRT4 G5 B:Toa-L =i =&
T TS S o4 | HERREER 1:31.0 5-5-5 | 42.3| — 9 445 | SRR (KH)
s s E-E-LI—F 54.0 @) o |EEREE
LE—E—-HILEY B:U—-HLTI1-X BR=AHIS
=9 5 | BEARE 1:31.1 10-11-10 [41.5| — 4 494 | ERER (KH)
cB 2 7¥7> bR 56.0 (1/2) o) | BEER
R:Fh¥<7128 B:LEVFZR EEREZ e ]
—: > 4 | BEE 1:31.2 3-4-4 | 42.6| — 10 | 462 |EER (KH)
7lgl11| 7RI “ 7 5.0 ) ) Emms
LV RKYZYRXIR B:YvXAMYa—A HET7—L
EIEER : -7~ — HEBE (KH)
slzli0| V=772 5 i 1.(311).4 8-7-6 | 42.4 6 g)s s =
R:d—IWRK7Y21—)b B:7RI/4YLy R (A) A3 -KL—ra>aEr7r
S 4 8 | AHESE 1:31.9 11-10-11 [42.4| — 8 481 | MERZ (KFH)
955 NTATI vy T 56.0 (2 1/2) ) /—A'~‘/;<|~~/\7:L'ﬂ<§b§ (*%)
R/ R T vy BiFyINY— EERES ¢ ]
S SRS T ANElsE :32. == . — FEFFRRBA  (/I\HE)
N A # 4 | 28 F T TR R R -~ 2
L:TFv 784K B:74FAQXALE ¥H fEF
= i 5 | HIlIMBR 1:34.4 6-6-8 | 45.5| — 11 405 | BOBEZ (KH)
111812 A — =171 7 54.0 ) () |EREE
oxA1ZTyr—2 B:RU—LT1—FZX bilarse]
o, 85 # 5 | BEEK = 12 = = 7 546 | BRAZZ (k)
sk 1|1 | AT LAV Y v — 56.0 (shik) (3 | B x3zHum
R:hT/RI47T B:A7LAY L T— e ]
® I —F—EBIERL
13—7—
Aol=5r= 4,6,11,9,8,12,7,10,3,2,5,1
G§a=7r= 4,6,9,11,8,12,10,7,3,5,2
43—+ — 6,4,9,11,8,10,7,12,3,2,5
[ RN
B OB 6 610M 714K 3-6 1,750H e & 3-5 5,390M &R 3-6-7 6,960
8 B 6 160 6-7 690 B 523 8,610M JEH 6-3-7 37,130
3 400M 3-7 1,010 B E 3-6 4,900
7 170 B H 6-3 9,060M

ABICOVWTRDTEEERROODE. TR LIV,




